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GEOGRAPHY
( General )

( Economic, Political and
Environmental Geography )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Choose the correct answer of the following :
1x10=10

wore R wg Teh! A Siied

(a) Which one of the following resources is
not renewable resource?

ST CRIACBT S0 ARSI T T 7

(i) Forest resource
[ =M
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(2)

(i) Marine resource
| M

(iti) Fossil fuel
Rra T

(iv) Water resource
G ™M

(b) Which of the following two seas are
connected by Panama Canal?

TR @M T RS ANl AT e
firg?

(i) Atlantic Ocean and Mediterranean
Sea

HGaTBF TP AFE TR

(i) North Sea and Baltic Sea
Teq AR SF A0S R

(i) Pacific Ocean and Carribean Sea
28 TRPTISH o1 (FRRTA o

(iv) Mediterranean Sea and Red Sea
TIPIIR % (RS o]
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( Continued )

(c)

(d)
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(3)

In which of the following regions, the
largest crude oil reserves of India are
found?

T (Wl HigETe oReId FHRSE e
(1R SIQE ¢l TH 2

(i) Gujarat
GEM0

(i) Assam
it

(iii) Western offshore
oiffox B

(iv) Rajasthan
&=

The occupation of Eskimo people is
associated with

R (1B T '@ IR A
(i) collection
AR
(ii) fishing
RICR L)
(iii) hunting
W -
(iv) animal-rearing
T
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(é)
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(4)

55% jute of the world is produced in
4RI ee% TID Seore =

(i) Assam
TS

(i) Bangladesh
REATTTS

(i) India
S5 SR E]

(iv) China
b Craic]

The species Pine is included under

Jtm s SRRy wEge I TR
PO T

(i) tropical monsoon forest

T T FEA

(ii) subtropical mountain forest

TAFIBY ISy I

(ifi) tropical thornlike forest

A TG e

(iv) tropical rain forest

T8 I 51T

( Continued )

(9)

(h)
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(S)

Which of the following countries produces
the highest amount of petroleum?

TR @M o SRR il I oF
BRAMA FI?

(i) Iran
ES I
(i) Russia
=
(iii) Saudi Arabia
Bt SR
(iv) USA
TR JSE
Which one of the following’gasses is not
present in the troposphere?
o (MY (o1 o PEIS ¢ TR 2
i) CO,
IR RS
(i) Oy
T
(@) O,
RlEa
(iv) N
ARG T
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(6)

The International Boundary between
India and China is known as

| ORS S DR WRER S e T

(i) Indo-Chinese border
oe-bF i R

(i) McMahon Line
I R Rors

(i) Durand Line
e FiXR o

(iv) Redcliffe Line
CTTT =iz Ros

Who among the following geographers

developed the ‘dynamic concept of
resources’?

G (FEH PeEReT SToma ifefe qRer’s
TeRe IR 2
(i) Friedrich Ratzel
T q6ceE
(i) Zimmermann
e
(ifi) Malthus
AR
(iv) Marx
i<}

( Continued )

(7)

2. Answer the following questions in brief :

2x5=10

Sod 2rPTRS oY TS

(@)

(b)

()

(@)

(e)
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Write two examples
occupation.

a8 9 1 T o |

of secondary

Mention two problems of deforestation.

AR e R @A T T eEd
gl

What is ozone hole?

e oA i & @2

Write two differences  between
plantation agriculture and commercial
agriculture.

g 3R o AT FRI T PP ALH
ferdt 1

Write four consequences of Jhum
cultivation.

I (37 TS R BIRGT e for o
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(8)

Answer any four of the following questions :

5x4=20

o faT erprpRd R e wifRer e faun

(a) Mention five means of forest resource
conservation.

IS I FTHOE S5 SO BCEY 390 |

(b) Write five examples of primary activities.

o= e <fwor Tz foran |

(c) Write five precautionary measures to be
taken during floods.

TEATAR SRS AN 661 ARYFST oy |

(d) Write the differences between boundary
and buffer zones.

B UF TR XTI &I NYFRIN fora ¢

( Continued )

(9)

{e) Write an account of the flood-prone
areas of India.

SRS IEAMPe SRR R¥a @61 G
foram 1 '

() Write a short note on marine resources.

g % ST9cw A6 53 BT o

4. Answer any four of the following questions :
10x4=40
e i P R el vt T faan -

(a) Explain the meaning and scope of
Economic Geography. 10

GRS P O S SR I 901

(b) Discuss the concept and -classification
of resources. 4+6=10

HRMR YR SF CINRSI9 SCAAT 947 |

(c) State the necessary geographical
conditions for wheat cultivation.
Discuss about the distribution of wheat-
producing areas in the world. 5+5=10

g 7 I e S IR
TeEy 991 | JRTS (' QRT Beor@ PR
AT F4 |
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( 10 ) | (11 )

(d) Explain the factors of industrial location ‘ () What do you mean by boundary
and classification of industries. 5+5=10 problems? Discuss the boundary
| : problems of India with its neighbouring

Ficsems T IR AT AP | countries. 5+5=10
PremomeR ekt = F10 1 ‘ S e e R 3o 2 SRS R IEHR
| TS 41 iy STEHETHR A 401
() Discuss the nature and scope of :

: hy. =10
environmental geography 5+5=10 * % %

IRAPRE T oS F AR e
1

() What are natural hazards? Discuss
about different types of natural hazard. |
3+7=10

apfes il e B o Rew @w
ol qedfiar Sroics SICEAs A |

(g) What are the main causes of climate
change? Explain the impact of climate
change on the Earth. ) 5+5=10

o ARG g PRPHE B [ wery

ARTGH JRAT 8IS FERR 2SR (oiRez
[ 34T |
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